Virginia High School League

Scholastic Bowl, 2002-03 season

District Competition, Match #43

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine, Matt Weiner, Christopher Moretti and Phil Castagna are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
In the second part of the epic, a choir of angels rescues the title character, chanting, “He who exerts himself in constant striving, him we can save.”  Earlier, an old scholar gets rejuvenated and has a child with Gretchen due to the intervention of Mephistopheles in, for ten points, what two part tragedy by Goethe (GUR-tuh)?

ANSWER:  Faust
2.
Because it expands upon freezing, for ten points, what crystallized form of water has a lower density than its liquid form?

ANSWER:  ice
3.
Some of the tensions in this series disappeared when one of the title characters married Dr. Leo Markus, ending the roommate situation – gay guy and straight woman rooming together – that was the initial premise. For 10 points, what is this television series that also features Jack, a flamboyant gay friend and Karen, a oft-divorced secretary, that appears on NBC at 9pm on Wednesdays?

ANSWER: WILL AND GRACE
4.
The main goal of his reign was to protect his country, Sweden, from the onrushing tides of Roman Catholicism. Hence, he intervened in Poland and northern Germany. His highly successful involvement in the early years of the Thirty Year War nearly gained victory for the Protestants, but his death at the battle of Lutzen (LOOT-sen) meant the war would be extended for 25 more years. For 10 points, who was this king of Sweden?

ANSWER: GUSTAVUS ADOLPHUS
5.
Petrarch’s used an octave and a sestet, but for ten points, Shakespeare transformed what fourteen-line poetic form into three quatrains and a couplet in his 154 examples?

ANSWER:  sonnet
6.
The Urals are not the only mountain range marking the border between Europe and Asia. This mountain range, stretching between the Black and Caspian Seas, is also a border between Asia and Europe. For 10 points, what is this mountain range that includes Mount Elbrus, the highest mountain in Europe?

ANSWER: CAUCASUS
7.
At about 3:30 pm on April 21, 1836, the Mexican army, which outnumbered the Texan army about three-to-one, was literally caught napping, as they were taking their siesta and Santa Anna had posted no lookouts. For 10 points, what was this battle where Santa Anna was captured and forced to recognize Texas’ independence? 

ANSWER: Battle of SAN JACINTO
8.
Instead of scales, this fish has rings of bony plates that encase its body in a skeletal form, and males of the species have a kangaroo-like pouch that holds eggs until they hatch.  For ten points, what fish of genus Hippocampus looks like a knight on a chess set?

ANSWER:  sea horse
9.
The Emperor Jones, The Hairy Ape, Mourning Becomes Electra, The Iceman Cometh and Long Day’s Journey Into Night are plays by, for 10 points, what noted American playwright?

ANSWER: Eugene O’NEILL
10.
It is composed of a foundation warp, which is then covered completely by usually multicolored weft threads in order to form a decorative pattern.  For ten points, what hand-woven textile is often hung up on walls, such as one honoring the Norman Conquest that hangs in a museum in Bayeux (bah-YU), France?

ANSWER:  tapestry
11.
For 10 points, what short story by Edgar Allan Poe ends with the main character being rescued by Napoleon’s French soldiers from the Spanish Inquisition?

ANSWER: The PIT AND THE PENDULUM
12.
Enver Hoxha (HAW-sha) was dictator of, for 10 points, what Balkan country between 1946 and 1985?

ANSWER: ALBANIA
13.
He averaged over 30 points per game in leading the Shanghai Sharks to the Chinese Basketball Association’s 2002 championship. So the NBA was the only place for him to go, and he has begun to kick into high gear, making a case for becoming the NBA’s second-best center. For 10 points, who is this player that was drafted first in the 2002 NBA draft by the Houston Rockets?

ANSWER: YAO Ming

14.
THIS IS A COMPUTATION QUESTION. Police know that a license plate on a wanted car has 8 characters, all of which are either the digits 0 – 9 or the letters A – Z.  They know all the characters on the license plate, but do not know their order.  Duplicate characters are allowed on plates, but the set of 8 characters the police have contains no duplicates.  For 10 points, what is the probability of guessing the correct plate on the first try?

ANSWER: 1 over 40320
15.
It is the DOS equivalent of a shell script. It consists of a series of DOS instructions in a text file that are executed in the order they appear when you run this type of file. For 10 points, what is this type of file with the extension .BAT? (dot B-A-T)

ANSWER: BATCH file

Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
It occurs after both sides have met all the terms of the contract and the deed has been recorded. What is this activity where ownership of a piece of real estate is formally transferred from one party to another? 

ANSWER: CLOSING
1B.
Who was the first and best-known wife of the Egyptian pharaoh Akhenaton (ah-ken-AH-tawn)?

ANSWER: NEFERTITI
2A.
THIS IS A COMPUTATION QUESTION. E is an infinite series.  The first term of E is 4, and each term is one-half of the previous.  What is the sum of this series?

ANSWER: 8
2B.   
What eight-letter word, derived from the Latin word for excellence, means someone who is extremely skilled at something, especially a musician?

ANSWER: VIRTUOSO
3A.
Tagalog is the most common language, other than English, in what Asian country?

ANSWER: PHILIPPINES
3B.
After his visit to Baghdad, the Iraqi News Agency claimed he had said that Iraq was free of weapons of mass destruction, a claim that this actor has since denied. Who is this actor that has organized a petition against war in Iraq signed by over 100 fellow celebrities?

ANSWER: Sean PENN
4A.
Who was the follower of Lyndon LaRouche that ran against John Warner for the US Senate last year?

ANSWER: Nancy SPANNAUS
4B.
What adjective is used to describe the lowest energy state of an atom or molecule?

ANSWER: GROUND state

5A.
Which Apollo mission was the first to land on the moon?

ANSWER: APOLLO 11 (Must have the number)

5B.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the equation in standard form of a circle with center at (8,1) and radius equal to five?

ANSWER: (X-8)2 + (Y-1)2 = 25

6A.
It was broken up into 38 pieces in 1911, due to its violations of the anti-trust laws. Modern companies descended from its breakup include Chevron and Exxon. What is this oil trust created by John D. Rockefeller?

ANSWER: STANDARD OIL Trust

6B.
What was the name of the group of shopkeepers and artisans that actively agitated against the Stamp Act, committing acts intended to force Stamp Distributors to resign, such as burning in effigy and tarring and feathering?

ANSWER: SONS OF LIBERTY
7A.
If 2 solids have equal heights, and if the cross sections formed by every plane parallel to the bases of both solids have equal areas, for 10 points, according to Cavalieri’s Principle, what must be equal in both solids?

ANSWER: Volume
7B.
Diana Barry, Gilbert Blythe and Marilla Cuthbert are central characters in what novel by Lucy Maud Montgomery?

ANSWER: ANNE OF GREEN GABLES
8A.
What Heian period courtesan lady of the empress Akiko wrote The Tale of Genji around the year 1000?

ANSWER:  Lady Murasaki Shikibu (accept either name)

8B.
Born in Washington, D.C., at age 13 he enlisted as an apprentice for the U.S. Marine Core band.  What man composed “The Gladiator,” “The Washington Post,” and “Stars and Stripes Forever” on his way to earning the title of March King?

ANSWER:  John Philip Sousa
9A. 
What monster laid menace to the land of Lerna until Heracles burned off all of its heads and gathered its poisonous venom?


ANSWER:  Lernaean hydra


9B.
What animal of the Pleistocene epoch had a coat of black hair and red-brown wool, but in many ways resembled a modern elephant?

ANSWER:  mammoth
10A.
 Soaps and detergents are examples of what type of substances that act on the surfaces of liquids to alter the liquid’s surface tension?

ANSWER: SURFACTANTs

10B.
THIS IS A COMPUTATION QUESTION. For 10 points, what is the last digit of 228 (twenty-two to the eighth)?

ANSWER: 6

Third period: 15 tossups
1. 
This doctrine is self-defeating, because though it states that the only meaningful hypotheses are those that can be verified empirically, the doctrine itself cannot be verified.  For ten points, what two-word idea states that metaphysics and religion are meaningless, and was advocated by Russell, Wittgenstein, and the Vienna Circle, among others?


ANSWER:  logical positivism


2.
For 10 points, what type of quadrilateral is guaranteed if one pair of adjacent sides of a parallelogram are congruent?

ANSWER: RHOMBUS
3.
150 micrograms of iodine.  1200 milligrams each of phosphorus and calcium.  60 milligrams of Vitamin C.  These quantities for high-school age adolescents represent, for ten points, what dietary intake developed by the Food and Nutrition Board of the National Academy of Sciences?

ANSWER:  RDA (or Recommended Daily Allowance or Recommended Dietary Allowance)

4.
For 10 points, who was the wife of F. Scott Fitzgerald?

ANSWER: ZELDA
5.
He was born in 551 BC in the state of Lu. Although he rose quickly through the ranks of the civil service, he fell just as quickly, turning instead to teaching and philosophizing. His philosophy centered about returning to the traditional virtues, and using the past as a guide to the present. For 10 points, who is this Chinese philosopher whose ideas have served as the central ideas of Chinese society for 2,500 years?

ANSWER: CONFUCIUS
6.
Until this year, his 16-16 record as a starter caused many to doubt his ability. However, this season, he led his team to a 10-2 record while completing over 60% of his passes and throwing for 3,639 yards, stats impressive enough to overcome the lack of exposure he received while on the West Coast. For 10 points, who is this man, the quarterback for Southern Cal and the 2002 Heisman Trophy winner?

ANSWER: Carson PALMER
7.
Scientists still do not completely know how it closes, but theorize that an electrical current running through each lobe activates a type of fluid pressure.  In any case, living insects do not want to get too close to, for ten points, what carnivorous plant of the sundew family, native to the Carolinas?

ANSWER:  Venus flytrap (or Venus’s flytrap)

8.
The largest recorded cave system in the world is, for 10 points, what cave in Kentucky?

ANSWER: MAMMOTH CAVE
9.
A short excerpt from this book was published five years before the author’s death, and was entitled “Before the Law.”  Possibly a version of the Book of Job, for ten points, what novel, featuring a bank assessor accused of a crime named Joseph K., was written by Franz Kafka?

ANSWER:  The Trial
10.
He trained himself as a pianist, and gave lessons as late as 1927, but the work of Henry Strand and trips to Yosemite National Park with his Kodak Brownie led him into photography.  For ten points, who was this man who took landscape pictures of the American West, especially in national parks?

ANSWER:  Ansel Adams
11.
The amount of iron contained within this mineral determines its color; the lepidolite variety is green or pink, while the vermiculite form is brown.  Books of, for ten points, which mineral that also comes in muscovite form can be split by basal cleavage into thin sheets or flakes?

ANSWER:  mica
12.
He pleaded guilty in December in federal court to counts of mail and tax fraud. This brings a probable end to the career of this founder of the racist group the National Association for the Advancement of White People. For 10 points, who is this former Ku Klux Klan leader that nearly won state and gubernatorial races in Louisiana?

ANSWER: David DUKE
13.
In his 1715 work Direct and Incremental Method, he invented integration by parts and the calculus of finite differences.  For ten points, what mathematician also developed an important calculus theorem for expanding functions into his namesake infinite series?

ANSWER:  Brook Taylor
14.
In a state election, one party’s candidate for governor is so popular he brings out enough voters to provide victory for his party in legislative races. For 10 points, what is this term used to describe the “lift” a Presidential or gubernatorial candidate can give to his party’s other candidates?

ANSWER: COATTAILs

15.   In telecommunications, this word describes attaching a transmitter to a dish antenna, creating an uplink to send a signal to a satellite without the satellite owner's

knowledge. In football, it refers to a play where the quarterback fakes a handoff, conceals the ball on his hip and then runs around the end. For 10 points, what is this word that referred in the 1920s to the smuggling and manufacturing of alcohol for illegal sale?

ANSWER: BOOTLEG or BOOTLEGGING
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
THIS IS A COMPUTATION QUESTION. A is the sum of Wayne Gretzky’s sweater number and his place on the all-time NHL scoring list.  B is the sum of the number of home runs Babe Ruth hit and his New York Yankees jersey number.  For 10 points, what is B mod A?

ANSWER: 17  

2.
Is the infinitve phrase in the following sentence functioning as an adjective, adverb, or noun? “We were too tired to complete the journey.” 

ANSWER: ADVERB

3.
Safar, Rajab, Shawwal, and Muharram are months in the calendar of, for ten points, what religion that also includes the month of Ramadan?

ANSWER:  Islam (accept Hijrah calendar)

4.
The resolution of the Cuban Missile Crisis involved the US promise to never invade Cuba, the Soviet withdraw of missiles from Cuba, and the withdraw of US missiles from, for 10 points, what country which received Truman Doctrine aid and bordered the former Soviet Union?

ANSWER: TURKEY
5.
It is the name given to naturally occurring deposits of potassium nitrate. For 10 points, what is this substance which is an important component of gunpowder?

ANSWER: SALTPETER
All questions © 2002 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.


